N = 0l & AHSE B Al M

LA (SGIHNLAIE S LS H) (e ®d)
SA - B ORl(3H) - HRAR - BaS e HImE
CIAI A 5,561,814 898,558 4,663,256
Xl 1,650,000
& 495,000
= 3,416,814
NP =IPN 3,953,091 566,895 3,386,196
Xl 1,650,000
& 495,000
i 1,808,091
LA (SDINLAILSE3IAH) 3,953,091 566,895 3,386, 1%
Xl 1,650,000
= 495,000
= 1,808,091
EFH2 & ArEste|steiga 29 254,330 126,047 128,283
201 L2 2| 226,830 97,786 129,044
01 At22teld| 24,120 23,741 379
O LBH2H| 21,120
0 LERESTY 10,0003 +3C1x12& 360
0 AIRIPDIARE R 250,000 *23] 500
0 Y2 A5E 15,0002 * 123 »2CH 360
0 =247 100,000 & x4 2 +23] 800
0 M=7¢ 5,000&*10S* 123 *2CH 1,200
0 3AEE ¢ 100,000& * 12 24 & 2,400
0 4BHHIHIE 7Y 25,0003 *108F A*2H{ A 500
0 Y&EAH ROI=S 200 *5,0000H4 1,000
0 F=22E5 7L 200,000+ 128 2,400
0 AHEI2gsEsE Y 100,000& *12& 1,200
0 gEg2 500,000 *23| %200 2~ 2,000
0 RolFHIAAE 2 8,400
0 UAITIZT2 350,000+ 12& 4,200
o At™Bto|stElEat 350,000& 123 4,200
ey 3,000
0 RETY AR U AFEIISIASY
150,000& *1021x23| 3,000
22ZH| 158,710 74,045 84,665
3323 & MA 118,650
&S 7,000,000 *123 84,000
s B2 150,000 *5CH*12& 9,000
getate] Hde2
250,000 &+ 12 *200 2 6,000
FIIQHE FEas2
2,000,000 & *13[*201 2 4,000
HIIOHH BRl4AE
600,000 & * 122200 2 14,400
0 S22 EIIZAH| 250,000 *13[*x5I 2 1,250
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|ELE2CIAS A
|22E 22N A
FXHROHL AN (SSIHL AL S 3]

=

[
$
P
rio

Sl

SA - ZH . GA(SH) - HRAY - B82S Talgtl] ‘Oﬂ,‘qa'ﬁ HwsZ
O ANEZUISA 40,060
0 Sfolstet2® AlLEYISX| 24,000
0 ZRIZ 22T MAIFH L RO
4,000,0002124] 8,000
o FHIB =22 I L MOEI
4,000,000 24! 8,000
0 FHB 2D Wte)| Y BX)|
4,000,002 %24 8,000
0 22 T2ME 2T 7o
803, 0002 1074+ 13| 8,030
0 22 Patal Yo g
803,00024* 1074+ 15] 8,030
03 A2 44,000 0 44,000
Ostg22Hgn2 ]2y 10,000,000 10,000
OLERIETS 141%25,000,0002 25,000
OfrotE N st n | 9,000,000 9,000
206 THEH| 6,800 2,602 4,178
01 Wzl 6,800 2,622 4,178
O +&1 EZASUE 3¢ 850,0002/+8S 6,800
301 LerE A 6,000 6,000 0
TBIEEE] 6,000 6,000 0
O NAZAESY| 20,0002+321% 1002 6,000
405 XHHE S 14,700 0 14,700
01 R EZF S| 4,700 0 4,700
O =IHH =7 800,00024 %474 3,200
O =5HH HLXEI| 2L 1,500,000241CH 1,500
02 EATLH| 10,000 0 10,000
O =9HH EN7Y 20,00024%5002 10,000
NEHSSHUSARBRES ,800,000 390,000 1,410,000
X 900,000
< 270,000
z 630,000
401 Al L 20| ,800,000 390,000 1,410,000
7 900,000
= 270,000
= 630,000
01 Al 793,520 390,000 1,403,520
O N SSHEE AR ZE ALY
1,793,520, 00024 793,520
7 900,000
= 270,000
z 623,520
03 Al&=THYl 6,480 0 6,480
OAlZ STl 6,480,000} 6,480
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2A: SA2ZE2CIAMEA
g SOEUE A2 N2HLA
Ctel: ZHATHRONEAI (SSNLALSESA) (et &)
S - - BREH) - MRAR - BaS of vt o HI DS
dSstgF A2 Ald2e] 398,761 50,848 347,913
101 el24H] 272,253 0 272,253
04 J1IZHNI22 XS24 272,253 0 272,253
Ollg & AldESac] =Y 162,253
0JlE= 44,6403 101250 111,600
0 FX=< 44,6403 %10Q1+52& 23,213
0 =83 134,813,000 *4.500% 6,067
0 2HZ2E 134,813,000 +3.035% 4,002
0 FIIeLEE 4,092,000&%3.275% 135
0 nE:2E 134,813,000 %1.300% 1,753
0 &THES 134,813,000 *4.000% 5,393
OS2EZEFSII AL AN Y
100,000& 100 x 12 120,000
201 2etEg| 96,508 50,848 45,660
01 At=2t2ld 30,908 19,148 11,760
Ogeh=z3gH] 30,908
0 F=& & =& SH332
1,000,000& 22 2,000
0 22ES F¥ 200,000 *12& 2,400
oAl Y 50,0002 x 148t A% 122 8,400
0 2t&a SerM & MEH 7
12,000&x320H*12& 4,608
0 ROZHIANAE =2 12,600
os2d 350,000 *12& 4,200
o 2telAt 350,000&*12& 4,200
oM2H 350,000&*12& 4,200
0 Xlot= =ZHA 300,000& *37H 2 00
02 SE5=4H| 65,600 31,700 33,900
O=32= # HAl 65,600
0 28 &Ies 500,000&*12& 6,000
0128 &JIR= 2,100,000&12& 25,200
0 &2 MR 2,000,000& #4044 8,000
0 2els dJIRs 350,000&*12& 4,200
0 SHEAS AMEZE HIIRS
150,000 &6 x 128 10,800
0 S2d € 2eIM &DIRs
700,000&*12& 8,400
0 s2d gstze| 2
250,000 x12& 3,000
401 AlEHIZL 00| 30,000 0 30,000
01 Al&£H] 30,000 0 30,000
OAlZHIL L CHYI 30,000
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SN So|FAEBRIALIA
HE: So|PAE BBNANLAIY
SHol: BBTIRINLAI (BYWLAISSEEIH) (=CEE!
< _ . PSEL =
S - T B2I(3) - HIRAIY - BAS 0 et e HlRE2
0 DS URYRENALCHE Sazel]
5,000,00024+14! 5,000
0 HSSUBARX HIISAAL RN
bl 5,000,00024+14! 5,000
0 HESYSABBX TZAE SR T2l
0,000, 00024 #14! 10,000
0 HSHUBARX HAEHES RN
10,000, 00024 +14! 10,000
So|PUES ARSI IPAILTLALY 1,500,000 0 1,500,000
X 750,000
= 225,000
2 525,000
401 AlEBILSCHY| 1,500,000 0 1,500,000
X 750,000
= 225,000
2 525,000
01 A&t 1,494,600 0 1,494,600
So|PUEL BB BAIL T LAY
1,494,600,0002 1,494,600
X 750,000
= 225,000
2 519,600
03 Al&SCHY| 5,400 0 5,400
OAI&=CHH| 5,400,0002 5,400
oIyl 1,608,723 331,663 1,277,060
EENEREEEER) 1,608,723 331,663 1,277,060
oG] 1,608,723 0 1,608,723
801 0/t 1,608,723 0 1,608,723
01 0Ll 1,608,723 0 1,608,723
O oIl 1,608,723,0002 1,608,723
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